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funsZ'k&% 

(i)   lHkh iz'u vfuok;Z gSaA 

(ii) iz'u Øekad1 ls 5  rd oLrqfu"B iz'u gSaA 

(iii) iz'u Øekad 6 ls 23 esa vkarfjd fodYi fn;s x, gSaA 

(iv) tgkW vko';d gks LoPN ,oa ukekafdr fp= cukb;sA 

Instructions: 
(i)   All questions are compulsory. 
(ii)  Question No. 1 to 5 are objective type questions. 
(iii) Internal options are given in question numbers 6 to 23. 
iv)  Draw neat and clean labelled daigram whenever required. 

 

1) lgh fodYi pqudj fyf[k;s %        1x6=6 

(i)  26 vkSj 91 dk HCF gksxk&  

(a)  13      (b)  26    
          (c)  7      (d)  1 

(ii)  jSf[kd cgqin 𝒂𝒙 + 𝒃dk 'kwU;d gksxk & 

(a)  
𝒂

𝒃
      (b)  

𝒃

𝒂
    

          (c)  
−𝒃

𝒂
      (d)  𝒂𝒃 

(iii)  tc 
𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
≠

𝒄𝟏

𝒄𝟐
 gks rks jSf[kd lehdj.k ;qXe 𝒂𝟏𝒙 + 𝒃𝟏𝒚 + 𝒄𝟏 = 𝟎 rFkk 𝒂𝟐𝒙 + 𝒃𝟐𝒚 + 𝒄𝟐 = 𝟎 

(a)  ds nks gy gksaxsaA    (b)   dk dksbZ gy ugha gksxkA     

          (c)   ds vuUur% vusd gy gksxsA  (d)  dk vf)rh; gy gksxkA 

(iv)  𝑨. 𝑷. 𝟐, 𝟕, 𝟏𝟐, … … … dk lkoZ varj gS& 
(a)  𝟓      (b)   −𝟓     

          (c)  𝟐      (d)   −𝟐 

(v)   ;fn ,d fcUnq 𝑷 ls 𝑶 dsUnz okys fdlh o`Ÿk ij 𝑷𝑨, 𝑷𝑩 Li'kZ js[kk,a ijLij 𝟖𝟎𝟎 ds dks.k ij >qdh gks 

rks ∠𝑷𝑶𝑨 cjkcj gS& 
(a)  𝟓𝟎𝟎      (b)   𝟔𝟎𝟎    

          (c)   𝟕𝟎𝟎      (d)   𝟖𝟎𝟎 
(vi)   nks le:i f=Hkqtksa dh Hkqtk,a 𝟒 ∶ 𝟗 ds vuqikr esa gSaA bu f=Hkqtksa ds {ks=Qyksa dk vuqikr gS& 

(a)  𝟐 ∶ 𝟑       (b)   𝟒 ∶ 𝟗     
          (c)   𝟖𝟏 ∶ 𝟏𝟔       (d)   𝟏𝟔 ∶ 𝟖𝟏  

Choose the correct option and write it : 
(i)  The HCF of 26 and 91  
(a)  13      (b)  26    

          (c)  7      (d)  1 
(ii)  The zero of the linear polynomial 𝒂𝒙 +b wil be : 

(a)  
𝒂

𝒃
      (b)  

𝒃

𝒂
    

          (c)  
−𝒃

𝒂
      (d)  𝒂𝒃 

(iii)  When 
𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
≠

𝒄𝟏

𝒄𝟐
 then the system of equation 𝒂𝟏𝒙 + 𝒃𝟏𝒚 + 𝒄𝟏 = 𝟎 and  



𝒂𝟐𝒙 + 𝒃𝟐𝒚 + 𝒄𝟐 = 𝟎 

(a)  has two solution    (b)   has no solution   
  
          (c)  has infinitely many solution   (d)   has unique solution 

(iv)  For the  𝑨. 𝑷. 𝟐, 𝟕, 𝟏𝟐, … … … the common difference is: 
(a)  𝟓      (b)   −𝟓     

          (c)  𝟐      (d)   −𝟐 
(v)   If tangents 𝑷𝑨, 𝑷𝑩 from a point 𝒑 to 𝒂 circle with centre  𝒐 are inclined to each of 

other at angle of 𝟖𝟎𝟎,then   ∠𝑷𝑶𝑨 is equal : 

(a)  𝟓𝟎𝟎      (b)   𝟔𝟎𝟎    

          (c)   𝟕𝟎𝟎      (d)   𝟖𝟎𝟎 
(vi)   Sides of two similar triangles are in the ratio 𝟒 ∶ 𝟗, Areas of these triangles are in 
the ratio : 
(a)  𝟐 ∶ 𝟑       (b)   𝟒 ∶ 𝟗     

          (c)   𝟖𝟏 ∶ 𝟏𝟔       (d)   𝟏𝟔 ∶ 𝟖𝟏  
 

 

2)   fjDr LFkkuksa dh iwfrZ dhft,A        1x6=6 
(i)   lHkh --------------------------f=Hkqt le:i gksrs gSaA 

(ii)  fdlh fcUnq dh 𝒚 −v{k ls nwjh----------------------------dgykrh gSA 

(iii)  ;fn ehukj dh ÅWpkbZ ,oa Nk;k dh yEckbZ leku gks] rks lw;Z dk mUu;u dks.k ------------------gksxkA 

(iv)  dsUnzh; izo`fRr ds rhu ekidksa dk lac/k gS& 

   cgqyd = 3 ek/;d−----------------------------------- 

(v)  f=T;k 𝒓 okys o`Ÿk dh ifjf/k dk lw= ------------------------------------gSA 

(vi)  fdlh vlaHko ?kVuk dh izkf;drk lnSo ---------------------------------------gksrh gSA 

 

      Fill in the blanks: 
(i)   All ......................triangles are similar. 
(ii)  The distance of a point from the 𝒚 − 𝒂𝒙𝒊𝒔 is called ............................ 
(iii)  If the height of the tower and the length of the shadow are the same, then the angle 
of elevation of the sun  will   be ..................... 
(iv)  The relationship between the three measure of central tendency is 

 𝑴𝒐𝒅𝒆 = 𝟑 𝑴𝒆𝒅𝒊𝒂𝒏 −............................ 

(v)  Formula of circumference of the circle of radius 𝒓 is ........................ 
(vi)  The Probability of an impossible event is always .............................. 

 
3)   lgh tksM+h cukb, A          1x6=6 

LraHk ′𝑨′     LraHk ′𝑩′ 

     (i)   𝟏 + 𝐜𝐨𝐭𝟐 𝜽     (a)   𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄 = 𝟎 
(ii)   𝐜𝐨𝐬(𝟗𝟎𝟎 − 𝜽)     (b)   𝒃𝟐 − 𝟒𝒂𝒄 
(iii)  𝐭𝐚𝐧 𝜽        (c)   𝒃𝟐 − 𝟒𝒂𝒄 < 𝟎    

 (iv)  f}?kkr lehdj.k dk fofoDrdj   (d)   𝒃𝟐 − 𝟒𝒂𝒄 > 𝟎 
(v)   f}?kkr lehdj.k dk ekud :i    (e)   𝐬𝐢𝐧 𝜽 

(vi)  f}?kkr lehdj.k ds ewy okLrfod ugha  (f)   𝐜𝐨𝐬𝐞𝐜𝟐 𝜽 

       (g)   
𝒔𝒊𝒏 𝜽

𝒄𝒐𝒔 𝜽
 

 
 
 
 
 

   



 Match the correct  column : 
𝑪𝒐𝒍𝒖𝒎𝒏 ′𝑨′     𝑪𝒐𝒍𝒖𝒎𝒏 ′𝑩′ 

        (i)   𝟏 + 𝐜𝐨𝐭𝟐 𝜽     (a)   𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄 = 𝟎 

(ii)   𝐜𝐨𝐬(𝟗𝟎𝟎 − 𝜽)     (b)   𝒃𝟐 − 𝟒𝒂𝒄 
(iii)  𝐭𝐚𝐧 𝜽        (c)   𝒃𝟐 − 𝟒𝒂𝒄 < 𝟎    

 (iv)  Discriminant of quadratic equation (d)   𝒃𝟐 − 𝟒𝒂𝒄 > 𝟎 

(v)   Standard form of quadratic equation  (e)   𝐬𝐢𝐧 𝜽 

(vi)  Roots of quadratic equation not real (f)   𝐜𝐨𝐬𝐞𝐜𝟐 𝜽 

       (g)   
𝒔𝒊𝒏 𝜽

𝒄𝒐𝒔 𝜽
 

4)   izR;sd dk ,d 'kCn@okD; esa mRRkj fyf[k;s A      1x6=6 
      (i) fdlh 𝑨. 𝑷. ds izFke 𝒏 inksa dk ;ksxQy dk lw= fyf[k;sA 

      (ii) ewy fcUnq ls fcUnq (𝒙, 𝒚) dh nwjh fyf[k;sA 

      (iii) n`f"V js[kk dh ifjHkk"kk fyf[k,A 

      (iv) ,d o`Ÿk dh fdruh lekarj Li'kZ js[kk,a gks ldrh gSaA 

      (v) o`Ÿk ds pki dh yEckbZ dk lw= fyf[k;sA 

      (vi) csyu dk vk;ru dk lw= fyf[k;sA 

      

     Write the answer in one word /sentence of each: 
      (i) Write the formula for the sum of the first 𝒏 terms of an 𝑨. 𝑷. 
      (ii) Write the distance of the point (𝒙, 𝒚) from the origin. 
      (iii) Define line of sight. 
      (iv) How many parallel tangents can a circle have ? 
      (v) Write the formula for the length of the arc of the circle. 
      (vi) Write the formula for the volume of the cylinder. 

5)   fuEufyf[kr esa lR;@vlR; fyf[k, A       1x6=6 
      (i)  √𝟑 ,d ifjes; la[;k gSA 

      (ii)  𝟐, 𝟒, 𝟔, 𝟖,........... lekarj Js.kh gSA 

      (iii)  ledks.k f=Hkqt esa d.kZ lcls cM+h Hkqtk gksrh gSA 

      (iv) fcUnqvks  (−𝟒, 𝟔) ,oa (𝟒, −𝟔) ds e/;fcUnq ds funZs'kkad (𝟎, 𝟎) gSaA 

      (v)  csyu dk oØi`"B 𝟐𝝅𝒓𝒉 gkssrk gSA 

    (vi)  fdlh ?kVuk dh izkf;drk _.kkRed Hkh gks ldrh gSA 

     Write True/False in the following  % 

      (i)  √𝟑 is rational number. 
 (ii)  𝟐, 𝟒, 𝟔, 𝟖,........... are arithmetic series. 
 (iii)  The hypotenuse is the longest side in a right angle triangle. 

      (iv) The coordinates of mid point of points (−𝟒, 𝟔) and (𝟒, −𝟔) is (𝟎, 𝟎) 
      (v)  The curved surface of the cylinder is 𝟐𝝅𝒓𝒉. 
    (vi)  The Probability of an event can also be negative. 
 

6)    vHkkT; xq.ku[k.M fof/k }kjk 𝟖, 𝟗 vkSj 𝟐𝟓 dk HCF Kkr dhft,A     2 
    Find the HCF of 𝟖, 𝟗 aand 𝟐𝟓 by prime factorisation method 

                           vFkok / OR 

      HCF (𝟑𝟎𝟔, 𝟔𝟓𝟕) = 𝟗 fn;k gSA LCM (𝟑𝟎𝟔, 𝟔𝟓𝟕) Kkr dhft,A 

    Given that HCF (𝟑𝟎𝟔, 𝟔𝟓𝟕) = 𝟗, Find LCM (𝟑𝟎𝟔, 𝟔𝟓𝟕) 
 

7)    tkap dhft, fd D;k fdlh izkd`r la[;k 𝒏 ds fy, la[;k 𝟔𝒏
 vad 𝟎 ij lekIr gks ldrh gSA 2 

      Check whether 𝟔𝒏 can end with the digit 𝟎 for any natural number  . 
                           vFkok / OR 

    O;k[;k dhft, fd 𝟕 × 𝟏𝟏 × 𝟏𝟑 + 𝟏𝟑 vkSj 𝟕 × 𝟔 × 𝟓 × 𝟒 × 𝟑 × 𝟐 × 𝟏 + 𝟓 HkkT; la[;k gS 

       Explain 𝟕 × 𝟏𝟏 × 𝟏𝟑 + 𝟏𝟑 and 𝟕 × 𝟔 × 𝟓 × 𝟒 × 𝟑 × 𝟐 × 𝟏 + 𝟓 aare composite numbers. 



 

8)    f}?kkr cgqin 𝒙𝟐 + 𝟕𝒙 + 𝟏𝟎 ds 'kwU;d Kkr dhft,A       2 
    Find the zeros of the quadratic polynomial  𝒙𝟐 + 𝟕𝒙 + 𝟏𝟎 

                         vFkok / OR 

fdlh cgqin 𝒑(𝒙) ds fy,] 𝒚 =  𝒑(𝒙) dk xzkQ vkd`fr esa fn;k x;k gSA 𝒑(𝒙) ds fy, 'kwU;dksa dh la[;k 

Kkr dhft,A 

 

                       

   The graph of 𝒚 =  𝒑(𝒙) are given in figure below. Find the number of zeros of 𝒑(𝒙) 

                                     

9)   ,d f}?kkr cgqin Kkr dhft,] ftlds 'kwU;dksa dk ;ksx rFkk xq.kuQy Øe'k% −𝟑 o 𝟐 gSA   2 
     Find a quadratic polynomial, the sum and product of its zero's are −𝟑 aand 𝟐. 
                         vFkok / OR 

   f}?kkr cgqin 𝟒𝒖𝟐 + 𝟖𝒖 ds 'kwU;d Kkr dhft,A 

     Find the zeros of polynomial 𝟒𝒖𝟐 + 𝟖𝒖  

       

10)   5 isafly rFkk 7 dyeksa dk dqy ewY; ₹50 gS] tcfd 7 isafly rFkk 5 dyeksa dk dqy ewY; ₹46 gSA bl fLFkfr 

dks chtxf.krh; :i esa O;Dr dhft,A         2 
5 Pencils and 7 pens together cost ₹50, whereas 7 pencils and 5 pens together cost ₹46. 

Represent this situation algebricaly. 
                         vFkok / OR  

   jSf[kd lehdj.k ;qXe 𝟐𝒙 + 𝒚 − 𝟔 = 𝟎 ,oa 𝟒𝒙 − 𝟐𝒚 − 𝟒 = 𝟎 dk gy laxr gS ;k vlaxrA 

 Pair of linear equation 𝟐𝒙 + 𝒚 − 𝟔 = 𝟎 and 𝟒𝒙 − 𝟐𝒚 − 𝟒 = 𝟎 are consistent or 
inconsisent. 

 

11)   f}?kkr lehdj.k 𝟐𝒙𝟐 + 𝒌𝒙 + 𝟑 = 𝟎 esa 𝒌 dk ,slk eku Kkr dhft, fd mlds nks cjkcj ewy gksaA 2 
Find the value of 𝒌 of the quadratic equation 𝟐𝒙𝟐 + 𝒌𝒙 + 𝟑 = 𝟎. So that they have two 
equal roots. 

                         vFkok / OR  

   tk¡p dhft, fd& (𝒙 + 𝟏)𝟐 = 𝟐(𝒙 − 𝟑) ,d f}?kkr lehdj.k gS ;k ugha \ 

     Check whether the equation (𝒙 + 𝟏)𝟐 = 𝟐(𝒙 − 𝟑) is a quadratic equation or not ? 
 

12)    𝑨. 𝑷.  𝟕, 𝟏𝟎, 𝟏𝟑,........... dk 8okW in Kkr dhft,A       2 
      Find the 𝟖𝒕𝒉 term of the  𝑨. 𝑷.  𝟕, 𝟏𝟎, 𝟏𝟑, ................. 
                         vFkok / OR  

   𝑨. 𝑷.  𝟑, 𝟖, 𝟏𝟑, 𝟏𝟖,........... dk dkSu lk in 78 gSA 

     which term of the   𝑨. 𝑷.  𝟑, 𝟖, 𝟏𝟑, 𝟏𝟖,...........is 78. 
 



13)    𝑨𝑩𝑪 ,d lef}ckgq f=Hkqt gS] ftldk dks.k 𝑪 ledks.k gS] rks fl) dhft, fd 𝑨𝑩𝟐 = 𝟐𝑨𝑪𝟐
  2 

             𝑨𝑩𝑪 is an isosceles  triangle. right angled at C . then Prove that 𝑨𝑩𝟐 = 𝟐𝑨𝑪𝟐 
                         vFkok / OR  

     nks f=Hkqtksa dh le:irk dh vko';d 'krsZ fyf[k;sA 

        Write the neccessary conditions of the similarity of two triangles. 
 
14)   ml fcUnq ds funsZ'kkad Kkr dhft, tks fcUnqvksa (𝟒, −𝟑) vkSj (𝟖, 𝟓) dks tksM+us okys js[kk[k.M dks vkarfjd :i 

ls  𝟑: 𝟏 ds vuqikr esa foHkkftr djrk gSA        2 
 

Find the coordinates of the point which divides the line segment joining the points 
(𝟒, −𝟑) and (𝟖, 𝟓) in the ratio 𝟑: 𝟏   internally. 

                         vFkok / OR  

  𝒚 dk og eku Kkr dhft,] ftlds fy, fcUnq 𝑷(𝟐, −𝟑) vkSj 𝑸(𝟏𝟎, 𝒚) ds chp dh nwjh 10 ek=d gSA 

   Find the value of  𝒚  for which the distance between the points 𝑷(𝟐, −𝟑) and 𝑸(𝟏𝟎, 𝒚) 
is 10   units. 

 

15)   ;fn 𝐬𝐢𝐧 𝑨 =
𝟑

𝟒
 ] rks 𝐜𝐨𝐬 𝑨 vkSj 𝐭𝐚𝐧 𝑨 dk eku ifjdfyr dhft,A     2 

      If  𝐬𝐢𝐧 𝑨 =
𝟑

𝟒
 , calculate 𝐜𝐨𝐬 𝑨 and 𝐭𝐚𝐧 𝑨  

                         vFkok / OR  

    fuEufyf[kr dk eku fudkfy, % 𝐬𝐢𝐧 𝟑𝟎𝟎 𝐜𝐨𝐬 𝟔𝟎𝟎 + 𝐬𝐢𝐧 𝟔𝟎𝟎 𝐜𝐨𝐬 𝟑𝟎𝟎 
     Evaluate the following  𝐬𝐢𝐧 𝟑𝟎𝟎 𝐜𝐨𝐬 𝟔𝟎𝟎 + 𝐬𝐢𝐧 𝟔𝟎𝟎 𝐜𝐨𝐬 𝟑𝟎𝟎 
 
16)    nks f[kykM+h laxhrk vkSj js'kek Vsful dk ,d eSp [ksyrs gSaA ;g Kkr gS fd laxhrk }kjk eSp thrus dh 

izkf;drk 𝟎. 𝟔𝟐 gSA js'kek ds thrus dh D;k izkf;drk gSA      2 
 

  Two players Sangeeta and Reshma play a tennis match, If is known that the probability 
of Sangeeta winning the match is 𝟎. 𝟔𝟐, what is the probability of Reshma winning the 
match. 

                          vFkok / OR  

    ,d ikals dks ,d ckj Qsadk tkrk gS] ,d fo"ke la[;k izkIr djus dh izkf;drk Kkr dhft,A 
     A dia is thrown once, Find the probability of getting an odd number. 
 
17)     ,d FkSys esa 3 yky vkSj 5 dkyh xsansa gSaA bl FkSys esa ls ,d xsan ;kn`PN;k fudkyh tkrh gSA bldh izkf;drk      

D;k gS fd xsan 

        (i) yky gks \                    (ii)  yky ugha gks \      2 
A bag contains 3 red balls 5 black balls. A ball is drawn at random from the bag.What is 
the probability that the ball drawn is  

       (i) red ?    (ii)   not red ?                                   
                          vFkok / OR  

 ,d fpr izkIr djus dh izkf;drk Kkr dhft,] tc ,d flDds dks ,d ckj mNkyk tkrk gSA lkFk gh ,d 

iV izkIr djus dh izkf;drk Kkr dhft,A 

Find the probability of getting a head when a coin is tossed once.Also Find the 
probability of getting a tail. 

 
18)     𝟏. 𝟓 𝒎 yack ,d yM+dk 𝟑𝟎 𝒎 Å¡ps ,d Hkou ls dqN nwjh ij [kM+k gSA tc og Å¡ps Hkou dh vksj tkrk gS    

rc mldh vkW[k ls Hkou ds f'k[kj dk mUu;u dks.k 𝟑𝟎𝟎 ls 𝟔𝟎𝟎
 gks tkrk gSA crkb;s fd og Hkou dh vksj 

fdruh nwjh rd pydj x;k gSA         3 



  A 𝟏. 𝟓 𝒎 tall boy is standing at some distance from a 30 m tall building. The angle of 

elevation from his eyes to the   top of the building increases from 𝟑𝟎𝟎 to 𝟔𝟎𝟎
 as he 

walks towards the building. Find the distance he walked  towards the building. 
                                                   vFkok / OR  

  vk¡/kh vkus ls ,d isM+ VwV tkrk gS vkSj VwVk gqvk Hkkx bl rjg eqM+ tkrk gS fd isM+ dk f'k[kj tehu dks 

Nwus yxrk gS vkSj blds lkFk 𝟑𝟎𝟎
 dk dks.k cukrk gSA isM+ ds ikn fcanq dh nwjh] tgk¡ isM+ dk f'k[kj tehu dks 

Nwrk gS] 𝟖 𝒎 gSA isM+ dh Å¡pkbZ Kkr dhft,A          
A tree breaks due to storm and the broken part bends so that the top of the tree 

touches the ground making an  angle 𝟑𝟎𝟎 with it. The distance between the foot of the 
tree to the point where the top touches the ground is 𝟖 𝒎.  Find the height of  the tree. 

 

19)   fl) dhft, ^^ckg~; fcanq ls o`Ÿk ij [khapha xbZ Li'kZ js[kkvksa dh yEckb;k¡ cjkcj gksrh gSaA  3 
        Prove that " the length of tangents drawn from an external point to a circle are equal." 
 
                          vFkok / OR  

nks ladsUnzh; o`Ÿkksa dh f=T;k,W 𝟓 𝒄𝒎 rFkk 𝟑 𝒄𝒎 gSaA cM+s o`Ÿk dh ml thok dh yEckbZ Kkr dhft, tks NksVs 

o`Ÿk dks Li'kZ djrh gksA 

Two concentric Circles are of radai 𝟓 𝒄𝒎 and 𝟑 𝒄𝒎. Find the length of the chord of the 
larger circle which touches    the   smaller circle. 

 

20)   ,d ?kM+h dh feuV dh lqbZ ftldh yEckbZ 𝟏𝟒 𝒄𝒎gSA bl lqbZ }kjk 5 feuV eas jfpr {ks=Qy Kkr dhft,A 3 
The length of the minute hand of a clock is 𝟏𝟒 𝒄𝒎. Find the area swept by the minute 
hand in 5 minute.             

 
                          vFkok / OR  

   Hkqtk 𝟒 𝒄𝒎 okys ,d oxZ ds izR;sd dksus ls 𝟏 𝒄𝒎 f=T;k okys o`Ÿk dk ,d prqFkkZa'k dkVk x;k gS rFkk 

chp esa 𝟐𝒄𝒎 O;kl dk ,d o`Ÿk Hkh dkVk x;k gS ¼vkd`fr vuqlkj½A oxZ ds 'ks"k Hkkx dk {ks=Qy Kkr dhft,A 

 

From each corner of a square of side 𝟒 𝒄𝒎 a quadrant of a circle of radius 𝟏 𝒄𝒎 is cut 

and also a circle of diameter  𝟐 𝒄𝒎 is cut (as fig.). Find the area of the remaining portion 
of the squre. 

 
 

21)   fuEu lehdj.k ;qXe dks jSf[kd lehdj.k ds ;qXe esa cnydj gy dhft,A    4 
𝟒

𝒙
+ 𝟑𝒚 = 𝟏𝟒 

𝟑

𝒙
− 𝟒𝒚 = 𝟐𝟑 



 
 
 
Solve the following pair of equation by reducing them to a pair of linear equation. 

𝟒

𝒙
+ 𝟑𝒚 = 𝟏𝟒 

𝟑

𝒙
− 𝟒𝒚 = 𝟐𝟑 

 

                          vFkok / OR  

nks vadks dh la[;k ds vadks dk ;ksx 9 gSA bl la[;k dk ukS xquk] la[;k ds vadks dks iyVus ls cuh la[;k 

dk nks xquk gSA og la[;k Kkr dhft,  

The sum of the digits of a two digit number is 9. Also nine times of this number is twice 
the number obtained by reversing the order of the digits.Find the number. 

 

22)   ,d f[kykSuk f=T;k 𝟑. 𝟓 𝒄𝒎 okys ,d 'kadq ds vkdkj dk gS] tks mlh f=T;k okys ,d v)Zxksys ij v/;kjksfir 

gSA bl f[kykSus dh lEiw.kZ Å¡pkbZ 𝟏𝟓. 𝟓 𝒄𝒎 gSA bl f[kykSus dk lEiw.kZ i`"Bh; {ks=Qy Kkr dhft,A 4 
A toy is in the form of a cone of radius 𝟑. 𝟓𝒄𝒎 mounted on a hemisphere of same radius 

. The total height of the toy is 𝟏𝟓. 𝟓𝒄𝒎. Find the total surface area of the toy. 
 

                          vFkok / OR  

,d Bksl ,d v)Zxksys ij [kM+s ,d 'kadq ds vkdkj dk gS ftudh f=T;k,a 𝟏 𝒄𝒎 gSa rFkk 'kadq dh Å¡pkbZ 

mldh f=T;k ds cjkcj gSA  bl Bksl dk vk;ru 𝝅 ds inksa esa Kkr dhft,A  

A solid is in the shape of a cone standing on a hemisphere with both their raddi being 
equal to 𝟏 𝒄𝒎. and the height of the cone is equal to its radius. Find the volume of the 
solid in terms of 𝝅. 
 

23)   fn, gq, caVu dk ek/;d Kkr dhft, %        4 
 

oxZ varjky 0 - 10 10 - 20 20 – 30 30 – 40 40 – 50 50 – 60  ;ksx 

ckEckjrk 5 8 20 15 7 5 60 

 

  Find the median of the following distribution. 
Class 

interval 
0 - 10 10 - 20 20 – 30 30 – 40 40 – 50 50 – 60 Total 

Frequency 5 8 20 15 7 5 60 

 

                                                        vFkok / OR  

fo|kfFkZ;ksa ds ,d lewg }kjk ,d eksgYys ds 20 ifjokjksa ij fd, x, losZ{k.k ds ifj.kkeLo:i fofHkUu ifjokjksa 

ds lnL;ksa dh la[;k ls lacaf/kr fuEufyf[kr vkWdM+s izkIr gq,& 

 

ifjokj eki 1 – 3 3 – 5 5 – 7 7 – 9 9 - 11 

ifjokjksa dh la[;k 7 8 2 2 1 

  bu vkWdMks dk cgqyd Kkr dhft,A 

 

A survey conducted on 20 house holds in a locating by a group of students resulted in 
the following frequency table for the number of family. 

Family size 1 – 3 3 – 5 5 – 7 7 – 9 9 - 11 

No.of families 7 8 2 2 1 

Find the mode of this data. 
² 

 
 



 
 

 

 


